IE W= NEE R = LSS

SPARE PARTS LIST 17.01

XRAY MODEL RACING CARS, K Vystavisku 6992, 911 50 TRENCIN, SLOVAKIA, EUROPE

TEL: +421-32-7401 100

www.teamxray.com  e-mail: info@teamxray.com

| NUMBER | PRODUCT DESCRIPTION

NUMBER PRODUCT DESCRIPTION

| NUMBER | PRODUCT DESCRIPTION

| NUMBER | PRODUCT DESCRIPTION

NUMBER PRODUCT DESCRIPTION

106211 |HUDY DIFF GREASE 376300 | COMPOSITE ANTENNA MOUNT 106470 |HUDY ULTIMATE SILICONE OIL 7000 ¢St - 50ML 298015 | HUDY PARTS CASE - 290 x 195mm 372113 | COMPOSITE SUSPENSION ARM - FRONT LOWER - RIGHT - GRAPHITE
301159-0 | ALU COUNTERSUNK SHIM - ORANGE (4) 376353 |X12'16 GRAPHITE PLATE FOR ANTENNA HOLDER 106471 | HUDY ULTIMATE SILICONE OIL 7000 ¢St - 100ML 298016 | HUDY TINY HARDWARE BOX - 4-COMPARTMENTS 372123 | COMPOSITE SUSPENSION ARM - FRONT LOWER - LEFT - GRAPHITE
303121-0 | AL SHIM 3x6x0.5MM - ORANGE (10) 376365-0 | ALU MOUNT 18.0MM - ORANGE (2) 106480 | HUDY ULTIMATE SILICONE OIL 8000 ¢St - 50ML 298018 | HUDY TINY HARDWARE BOX - 8-COMPARTMENTS 372130 | COMPOSITE FRONT UPPER SUSPENSION ARM & BALL JOINT
3031220 | ALU SHIM 3x6x1.OMM - ORANGE (10) 376366-0 | ALU MOUNT 6.0MM - ORANGE (2) 106481 | HUDY ULTIMATE SILICONE OIL 8000 ¢St - 100ML 298019 | HUDY DIFF BOX - 8-COMPARTMENTS 372176 |SPRING 4.25 COILS 3.6x6:0.4MM; C=15 - GOLD (SOFT) (2)
303123-0 | ALU SHIM 3x6x2.0MM - ORANGE (10) 377220 | FRONT UPPER PIVOT PIN 2x320M (2) 106510 |HUDY ULTIMATE SILICONE OIL 10 000 c5t - 50ML 301159 | ALU COUNTERSUNK SHIM (4) 372177 | SPRING 4.75 COILS 3.646x0.45MM; C=2.0 - SILVER (SOFT) (2)
303142-0 | ALU SHIM 3x5x0.5MM - ORANGE (10) 378001 | SHOCK ABSORBER SET 106511 | HUDY ULTIMATE SILICONE OIL 10 000 ¢St - 100ML 301351-0 | ALU ADJUSTABLE BODY POST STOP (2) 372178 | SPRING 4.05 COILS 3.6x6x0.45MM; C=2.5 - GOLD (SOFT) (2)
303143 | ALU SHIM 3x50.25MM (10) 378011 | COMPOSITE SHOCK PARTS - FRAME 106515 | HUDY ULTIMATE SILICONE OIL 15 000 ¢St - 50ML 303120 | SET OF ALU SHIM (0.5MM, 1.5MM, 2.5MM) 372179 | SPRING 4.25 COILS 3.6x610.5MM; C=3.0 - GREY (SOFT) (2)
303241 | PIVOT BALL UNIVERSAL 5.8 MM WITH HEX (4) 378020 | ALU THREADED SHOCK BODY - HARDCOATED 106516 | HUDY ULTIMATE SILICONE OIL 15 000 ¢St - 100ML 303121 | SET OF ALU SHIM (1.0MM, 2.0MM, 3.0MM) 372181 | SPRING 4.75 COILS 3.6x6x0.55MM; C=4.0 - SILVER (2)
306219 | COMPOSITE SET OF SERVO SHIMS (4) 378030-0 | ALU SHOCK BODY CAP - LOWER - ORANGE 106520 |HUDY ULTIMATE SILICONE OIL 20 000 c5t - 50ML 303121-K | ALU SHIM 3x6x0.5MM - BLACK (10) 372182 | SPRING 4.0 COILS 3.6x610.55MM; C=5.0 - BLACK (2)
309400 | BODY CLIP (8) 378040-0 | ALU SHOCK ADJUSTABLE NUT - ORANGE 106521 | HUDY ULTIMATE SILICONE OIL 20 000 c5t - 100ML 303122 | ALU SHIM 3x6x1.0MM (10) 372183 | SPRING 4.25 COILS 3.6x6x0.6MM; C=6.0 - GREY (2)
359270 | XRAY PREMIUM SILICONE OIL 700 ¢St 378050-0 | ALU SHOCK BODY CAP - UPPER - ORANGE 107090 | HUDY BEARING CHECK TOOL 303122-K | ALU SHIM 3x6x1.0MM - BLACK (10) 372210 | COMPOSITE STEERING BLOCK - RIGHT

359303 | XRAY PREMIUM SILICONE OIL 3000 St 378061 | SHOCK SHAFT 107150 |HUDY GRAPHITE PINION CADDY 303123 | ALU SHIM 3x6x2.0MM (10) 372220 | COMPOSITE STEERING BLOCK - LEFT

371109 | X12'18 GRAPHITE CHASSIS 2.5MM 378070-0 | ALU SHOCK SPRING COLLAR - ORANGE 107153 |SET OF 18 ALU PINIONS 64P WITH CADDY 18T ~ 35T 303123-K | ALU SHIM 3x6x2.0MM - BLACK (10) 372316 | ALU ECCENTRIC BUSHING 0.0MM (2)

371110 |X12'18 ALU CHASSIS 2.0MM - 7075 T6 378071-0 | ALU SHOCK ADAPTER - ORANGE 107601 | LIMITED EDITION - REAMER FOR BODY -+ ALU COVER - SMALL 303125 | ALU SHIM 3x6x3.0MM (10) 372317 | ALU ECCENTRIC BUSHING 0.5MM (2)

371153 |X12'17 GRAPHITE 2.5MM REAR POD LOWER PLATE 378080 | SHOCK RUBBER MEMBRANE (2) 107718 |RIDE HEIGHT GAUGE STEPPED 1/10 & 1/12 PAN CARS 303125-K | ALU SHIM 346x3.0MM - BLACK (10) 372317-0 | ALU ECCENTRIC BUSHING 0.5MM - ORANGE (2)

371154 |X12'17 ALU 20MM REAR POD LOWER PLATE - 7075 T6 378093 | SHOCK SPRING C=1.8 - GOLD 107750 | HUDY GRAPHITE QUICK CAMBER GAUGE 1/10 TOURING 1.5°; 2°; 25° 303126-K | ALU SHIM 3x6x5.0MM - BLACK (10) 372318 | ALU ECCENTRIC BUSHING 1.0MM (2)

371190 | COMPOSITE POD LINK (2) 378141 | X1 SIDE TUBE TUBE (2) 107850 |HUDY PERSONAL RACING DISPLAY 303141-0 | ALU SHIM 3x5x1.0MM - ORANGE (10) 372318-0 | ALU ECCENTRIC BUSHING 1.0MM - ORANGE (2)

371210 | X12'18 GRAPHITE BUMPER LOWER HOLDER 2.5MM 378153 | X1 COMPOSITE SIDE TUBE SHAFT (2) 107855 |HUDY PIT LED 305819 | ALU PINION GEAR - HARD COATED 19T / 64 372610 | ALU ADJ TURNBUCKLE M3x42 MM - SWISS 7075 Té (2)
371220 |X12 FOAM BUMPER 379000 | BALL-BEARING SET (9) 107860 |HUDY ULTIMATE RACING STOPWATCH 305820 | AL PINION GEAR - HARD COATED 20T / 64 372651 | PIVOT BALL UNIVERSAL 4.9 MM - HUDY SPRING STEEL (2)
371320 | COMPOSITE BODY POST (2) 379300 | MOUNTING HARDWARE PACKAGE FOR Xl - SET 107865 | HUDY ULTIMATE DIGITAL SCALE 300g/0.01g 305821 | ALU PINION GEAR - HARD COATED 217/ 64 372660 | COMPOSITE STEERING BALL-JOINT 4.2 MM (4)

372011 | COMPOSITE FRONT UPPER ARM MOUNT - RIGHT - HARD 397311 | XRAY STICKER FOR BODY - WHITE 107870 | HUDY FIBRE-REINFORCED TAPE - BLACK 305822 | ALU PINION GEAR - HARD COATED 22T / 64 373584 | SIDE SPRING C=0.6 - SILVER (2)

372021 | COMPOSITE FRONT UPPER ARM MOUNT - LEFT - HARD 107875 | HUDY ULTRA DOUBLE-SIDED TAPE 305823 | ALU PINION GEAR - HARD COATED 23T / 64 373586 | SIDE SPRING C=1.2 - BLACK (2)

372112 | COMPOSITE SUSPENSION ARM - FRONT LOWER - RIGHT - HARD - V2 107880 | CHASSIS BALANCING SIMPLE TOOL (2 PCS) 305968 | NARROW ALU PINION GEAR - HARD COATED 16T / 64 373587 | SIDE SPRING C=1.5 - SILVER (MEDIUM) (2)

372122 | COMPOSITE SUSPENSION ARM - FRONT LOWER - LEFT - HARD - V2 102003 |HUDY EXCELLENT TIRE TRUER - FULLY AUTOMATIC 1/8, 1/10, 1/12 - FULL OPTION 107904 | HUDY QUICK-TWEAK STATION -+ ALU CARRY CASE 305969 | NARROW ALU PINION GEAR - HARD COATED 19T / 64 373588 | SIDE SPRING C=1.8 - GOLD (MEDIUM) (2)

372124 |X12'18 US GRAPHITE LOWER SUSPENSION ARM - RIGHT 102375 | WHEEL ADAPTER 1/12 & 1/10 PAN CARS 108150 |HUDY TOURING CAR STAND 305970 | NARROW ALU PINION GEAR - HARD COATED 20T / 64 375012 | STEEL REAR AXLE SHAFT - HUDY SPRING STEEL™

372125 | X12'18 US GRAPHITE LOWER SUSPENSION ARM - LEFT 106212 | HUDY SUPER DIFF GREASE 108201 | FLAT SET-UP BOARD FOR 1/10 TOURING CARS 305971 | NARROW ALU PINION GEAR - HARD COATED 21T / 64 375872 | COMPOSITE SPUR GEAR - 72T / 64P

372131 | COMPOSITE FRONT UPPER SUSPENSION ARM - HARD 106230 | HUDY BEARING OIL 108203 | FLAT SET-UP BOARD FOR 1/10 TOURING CARS - SILVER GREY 305972 | NARROW ALU PINION GEAR - HARD COATED 22T / 64 375875 | COMPOSITE SPUR GEAR - 75T / 64P

372150 | COMPOSITE FRONT UPPER BALL JOINT (2) 106232 | HUDY BEARING OIL - PREMIUM 108204 | FLAT SET-UP BOARD FOR 1/10 TOURING CARS - TITAN 305973 | NARROW ALU PINION GEAR - HARD COATED 23T / 64 375876 | COMPOSITE SPUR GEAR - 76T / 64P

372180 | SPRING 4.0 COILS 3.6x6x0.5MM; C=35 - GOLD (2) 106260 | HUDY TIRE ADDITIVE - CARPET GRIPPER - 65ML 108205 | FLAT SET-UP BOARD FOR 1/10 TOURING CARS - DARK GREY 305974 | NARROW ALU PINION GEAR - HARD COATED 24T / 64 375878 | COMPOSITE SPUR GEAR - 78T / 64P

372211 | COMPOSITE STEERING BLOCK - RIGHT - HARD - V3 106280 | HUDY BODY FIX 109.4ML/3.4FI 108211 | PLASTIC SET-UP BOARD DECAL FOR 1/10 305975 | NARROW ALU PINION GEAR - HARD COATED 25T / 64 375880 | COMPOSITE SPUR GEAR - 80T / 64P

372221 | COMPOSITE STEERING BLOCK - LEFT - HARD - V3 106290 | HUDY ULTIMATE SOLDER 3M LENGTH 109405 | UNIVERSAL EXCLUSIVE SET-UP SYSTEM FOR 1/10 & 1/12 PAN CARS 305976 | NARROW ALU PINION GEAR - HARD COATED 26T / 64 376310 | FIBERGLASS SOLID ANTENNA ROD + CAP

372280 | KING PIN (2) 106310 |HUDY ULTIMATE SILICONE OIL 100 ¢St - 50ML 109460 | ALUNUT M3 FOR 1/10 & 1/12 PAN CAR SET-UP SYSTEM (2) 305977 | NARROW ALU PINION GEAR - HARD COATED 27T / 64 378010 | COMPOSITE SHOCK PARTS - FRAME

372290 | AL SHIM 3.2x4.8:0.5 (4) 106311 | HUDY ULTIMATE SILICONE OIL 100 ¢St - 100ML 111030 | PIN ADAPTER 3.0MM FOR EL. SCREWDRIVER 305978 | NARROW ALU PINION GEAR - HARD COATED 26T / 64 378090 | SHOCK SPRING C=0.9 - BLACK

372292 | STEEL SHIM 0.2MM - SILVER (2) 106315 |HUDY ULTIMATE SILICONE OIL 150 &5t - 50ML 111035 | PIN ADAPTER 3.5MM FOR EL. SCREWDRIVER 305979 | NARROW ALU PINION GEAR - HARD COATED 29T / 64 378092 |SHOCK SPRING C=1.5 - SILVER

372293 | STEEL SHIM 0.4MM - BLACK (2) 106316 | HUDY ULTIMATE SILICONE OIL 150 &t - 100ML 111063 | LIMITED EDITION - UNIVERSAL HANDLE FOR EL. SCREWDRIVER PINS 305980 | NARROW ALU PINION GEAR - HARD COATED 30T / 64 378094 | SHOCK SPRING C=2.1 - BLACK

372294 | STEEL SHIM 0.6MM - GOLD (2) 106320 | HUDY ULTIMATE SILICONE OIL 200 St - 50ML 175535 | LIMITED EDITION - SOCKET DRIVER 5.5 MM 305981 | NARROW ALU PINION GEAR - HARD COATED 31T / 64 378095 | SHOCK SPRING PROGRESSIVE C=1.4-1.9 - BLACK - 1 dot
372310-0 | ALU LOWER GRAPHITE SUSPENSION ARM HOLDER - ORANGE 106321 | HUDY ULTIMATE SILICONE OIL 200 ¢St - 100ML 181030 | HUDY SPRING STEEL TURNBUCKLE WRENCH 3MM 305982 | NARROW ALU PINION GEAR - HARD COATED 32T / 64 378100 | SIDE SHOCK ABSORBER SET

372315 | COMPOSITE ECCENTRIC BUSHINGS + CASTER CLIPS (2) 106325 |HUDY ULTIMATE SILICONE OIL 250 &t - 50ML 181040 |HUDY SPRING STEEL TURNBUCKLE WRENCH 4MM 305983 | NARROW ALU PINION GEAR - HARD COATED 33T / 64 397370 |XRAY X12 STICKER FOR BODY - WHITE - V2

372316-0 | ALU ECCENTRIC BUSHING 0.0MM - ORANGE (2) 106326 | HUDY ULTIMATE SILICONE OIL 250 &t - 100ML 181091 | HUDY TURNBUCKLE WRENCH 3 & 4M 305984 | NARROW ALU PINION GEAR - HARD COATED 34T / 64 930230 | CERAMIC BALL 3.175MM (12)

372320 | X1 COMPOSITE ARM BUSHING (4) 106330 | HUDY ULTIMATE SILICONE OIL 300 St - 50ML 188981 | HUDY POCKET HOBBY KNIFE 305985 | NARROW ALU PINION GEAR - HARD COATED 35T / 64 930238 | CERAMIC BALL-BEARING AXIAL F3-8 348135

372330-0 |X12'18 US ALU BUSHING - WIDTH 0.0MM (2) 106331 | HUDY ULTIMATE SILICONE OIL 300 ¢St - 100ML 188985 | HUDY REPLACEABLE HOBBY KNIFE BLADES (5PCS) 305986 | NARROW ALU PINION GEAR - HARD COATED 36T / 64

372503 | COMPOSITE SERVO SAVER - X-STIFF - SET - V2 106335 | HUDY ULTIMATE SILICONE OIL 350 ¢St - 50ML 188990 | HUDY ULTIMATE BODY SCISSORS 305987 | NARROW ALU PINION GEAR - HARD COATED 37T / 64
372610-0 | ALU ADJ. TURNBUCKLE M3x42 MM - SWISS 7075 T6 - ORANGE (2) 106336 | HUDY ULTIMATE SILICONE OIL 350 &t - 100ML 189000 |HUDY MICRO RC PLIERS SET + CARRYING BAG 305988 | NARROW ALU PINION GEAR - HARD COATED 38T / 64 901303 | HEX SCREW SB M3 (10)

372620 | ADJ. TURNBUCKLE M3x17 MM - HUDY SPRING STEEL™ (2) 106340 | HUDY ULTIMATE SILICONE OIL 400 ¢St - 50ML 190001 |SET OF TOOLS + CARRYING BAG - FOR ELECTRIC TOURING CARS 305989 | NARROW ALU PINION GEAR - HARD COATED 39T / 64 901304 | HEX SCREW SB M3x4 (10)

372650 | BALL-END 4.2MM - THREADED - HUDY SPRING STEEL™ (2) 106341 | HUDY ULTIMATE SILICONE OIL 400 ¢St - 100ML 190005 | HUDY LIMITED EDITION TOOL SET -+ CARRYING BAG 305990 | NARROW ALU PINION GEAR - HARD COATED 40T / 64 901308 |HEX SCREW SB M3:6 (10)

372661 | COMPOSITE STEERING BALL-JOINT OPEN 4.2 M (4) 106345 | HUDY ULTIMATE SILICONE OIL 450 ¢St - 50ML 190006 | PT SET OF TOOLS -+ CARRYING BAG - FOR ALL CARS 305991 | NARROW ALU PINION GEAR - HARD COATED 41T / 64 902258 | HEX SCREW SH M2.5:8 (10)

372662 | COMPOSITE BALL-JOINT 4.2 MM (4) 106346 | HUDY ULTIMATE SILICONE OIL 450 &t - 100ML 190070 |SET OF POWER TOOL TIPS 2.0, 25, 3.00MM -+ 4.0, 5.8 PHILLIPS 305992 | NARROW ALU PINION GEAR - HARD COATED 42T / 64 902306 |HEX SCREW SH M36 (10)

373014 |X12'17 ALU REAR BULKHEAD - MOTOR (RIGHT) 106350 | HUDY ULTIMATE SILICONE OIL 500 St - 50ML 199050 | HUDY RC PLIERS BAG 305993 | NARROW ALU PINION GEAR - HARD COATED 43T / 64 902308 | HEX SCREW SH M348 (10)

373024 |X12'17 ALU REAR BULKHEAD - LEFT 106351 | HUDY ULTIMATE SILICONE OIL 500 ¢St - 100ML 199100 | HUDY 1/10 TOURING CARRYING BAG -+ TOOL BAG - V2 - EXCLUSIVE EDITION 305994 | NARROW ALU PINION GEAR - HARD COATED 44T / 64 902310 | HEX SCREW SH 3410 (10)

373033 |X12'17 GRAPHITE REAR BULKHEAD BRACE 106355 | HUDY ULTIMATE SILICONE OIL 550 &t - 50ML 199150 | HUDY CARGO BAG - EXCLUSIVE EDITION 305996 | NARROW ALU PINION GEAR - HARD COATED 46T / 64 902312 | HEX SCREW SH M3+12 (10)

373040 | ALU UPPER CLAMP FOR BALL-BEARING 106356 | HUDY ULTIMATE SILICONE OIL 550 <51 - 100ML 199157M | HUDY HAND BAG - MEDIUM 305997 | NARROW ALU PINION GEAR - HARD COATED 47T / 64 903305 | HEX SCREW SFH M35 (10)

373066 |ALU PIVOT BALL 106360 | HUDY ULTIMATE SILICONE OIL 600 &t - 50ML 199157L | HUDY HAND BAG - LARGE 305998 | NARROW ALU PINION GEAR - HARD COATED 48T / 64 903306 | HEX SCREW SFH N3x6 (10)

373073-0 | ALU REAR BRACE MOUNT 13MM - ORANGE (2) 106361 | HUDY ULTIMATE SILICONE OIL 600 ¢St - 100ML 199170 |HUDY TRANSMITTER BAG - LARGE - EXCLUSIVE EDITION 306000 | NARROW ALU PINION GEAR - HARD COATED 50T / 64 903308 | HEX SCREW SFH N3:8 (10)

373085 |X12'17 REAR BRACE - GRAPHITE 2.5MM 106365 | HUDY ULTIMATE SILICONE OIL 650 &1 - 50ML 199171 | HUDY TRANSMITTER BAG - COMPACT - EXCLUSIVE EDITION 359210 | XRAY PREMIUM SILICONE OIL 100 St 903310 | HEX SCREW SFH M3x10 (10)

373094 | COMPOSITE LOWER & UPPER PIVOT BRACE - LOW ROLL-CENTER - HARD - V3 106366 | HUDY ULTIMATE SILICONE OIL 650 &1 - 100ML 199180 |HUDY CAR BAG - 1/12 PAN CAR 359215 | XRAY PREMIUM SILICONE OIL 150 5t 903312 | HEX SCREW SFH M3<12 (10)

373120-0 | ALU SHIM 5.3x7.840.5MM - ORANGE (10) 106370 | HUDY ULTIMATE SILICONE OIL 700 &5t - 50ML 199190 | HUDY TEAM RUCKSACK - V2 359220 | XRAY PREMIUM SILICONE OIL 200 5t 908258 | HEX SCREW SOCKET HEAD CAP N2.5@ (10)

373240 | PIVOT BALL UNIVERSAL 6.0 MM - HUDY SPRING STEEL (2) 106371 | HUDY ULTIMATE SILICONE OIL 700 ¢St - 100ML 199199 |HUDY EURO POUCH 359225 | XRAY PREMIUM SILICONE OIL 250 ¢t 930130 | CARBIDE BALL 3.175MM (12)

373241 | COMPOSITE PIVOTBALL UNIVERSAL 6.0 MM (2) 106375 | HUDY ULTIMATE SILICONE OIL 750 <5t - SOML 199260 | HUDY PIT LED BAG 359230 | XRAY PREMIUM SILICONE OIL 300 St 930138 | CARBIDE BALL-BEARING AXIAL F3-8 3x8:3.5 - V2

373550 | X12'18 REAR POD UPPER PLATE - GRAPHITE 2.5MM 106376 |HUDY ULTIMATE SILICONE OIL 750 &t - 100ML 199270 |HUDY LIPO SAFETY BAG 359235 | XRAY PREMIUM SILICONE OIL 350 St 941438 | HIGH-SPEED BALL-BEARING 1/4'x3/8"x1/8" RUBBER SEALED (2)
373585  |SIDE SPRING (=0.9 - GOLD (2) 106380  [HUDY ULTIMATE SILICONE OIL 800 ¢St - 50ML 199280L  [HUDY OIL BAG - LARGE 359250  [XRAY PREMIUM SILICONE OIL 500 cSt 951438 |BALL-BEARING 1/4" x 3/8" x 1/8" FLANGED (2)

373591 | COMPOSITE SIDE SPRING HOLDER (2) 106381 | HUDY ULTIMATE SILICONE OIL 800 ¢St - 100ML 199280M | HUDY OIL BAG - MEDIUM 359260 | XRAY PREMIUM SILICONE OIL 600 St 951851 | BALLBEARING 1/8" x 5/16" x 9/64" FLANGED (2)

375010 | REAR AXLE SHAFT - GRAPHITE - V3 106390 | HUDY ULTIMATE SILICONE OIL 900 c5t - 50ML 199290 |HUDY ACCESSORIES BAG 359280 | XRAY PREMIUM SILICONE OIL 800 cSt 960031 | ALUNUT M3 (10)

375031 |X12'17 ALU REAR WHEEL HUB - RIGHT 106391 |HUDY ULTIMATE SILICONE OIL 900 & - 100ML 296510 | ALU COUNTERSUNK SHIM (10) 359290 | XRAY PREMIUM SILICONE OIL 900 St %0032 |NUT M3 (10)

375040 | ALU REAR WHEEL HUB - LEFT 106410 | HUDY ULTIMATE SILICONE OIL 1000 ¢St - 50ML 296510-8 | ALU COUNTERSUNK SHIM - BLUE (10) 359301 | XRAY PREMIUM SILICONE OIL 1000 cSt 963030 | CONE WASHER ST 3x8x0.5 (10)

375051-0 |X12'17 ALU DIFF HUB - ORANGE 106411 | HUDY ULTIMATE SILICONE OIL 1000 ¢St - 100ML 296510V | ALU COUNTERSUNK SHIM - VIOLET (10) 359302 | XRAY PREMIUM SILICONE OIL 2000 cSt 964032 |WASHER $32x48x02 (10)

375080 D-LOCK DIFF PLATE (2) 106420 HUDY ULTIMATE SILICONE OIL 2000 ¢St - 50ML 296530-B  [ALU NUT M3 - BLUE (10) 359305 XRAY PREMIUM SILICONE OIL 5000 ¢St 965015 E-CLIP 1.5 (10)

375090-0 | SET OF ALU SHIMS 6.37x8.4MM (0.5MM, 1.0MM, 2.0MM) - ORANGE 106421 |HUDY ULTIMATE SILICONE OIL 2000 <5t - 100ML 296530-K | ALUNUT M3 - BLACK (10) 359306 | XRAY PREMIUM SILICONE OIL 6000 cSt 95019 |E-CLIP19 (10)

375093-0 | ALU SHIM 6.378.4x6.0MM - ORANGE (2) 106430 | HUDY ULTIMATE SILICONE OIL 3000 <5t - SOML 296530-0 | ALUNUT M3 - ORANGE (10) 359308 | XRAY PREMIUM SILICONE OIL 8000 cSt 970050 | 0-RING 541 (10)

375220 | FRONT WHEEL AXLE - HUDY SPRING STEEL (2) 106431 | HUDY ULTIMATE SILICONE OIL 3000 ¢St - 100ML 298010 | HUDY HARDWARE BOX - DOUBLE-SIDED 362651 | BALL END 4.9MM WITH THREAD BMM (2) 971022 |SILICONE O-RING 2¢2 (10)

375390 | ALU 7075 HEX SCREW M3x8 FOR REAR WHEELS (6) 106450 | HUDY ULTIMATE SILICONE OIL 5000 ¢St - 50ML 298011 | HUDY HARDWARE BOX - DOUBLE-SIDED - COMPACT 372010 | COMPOSITE FRONT UPPER ARM MOUNT - RIGHT 980210 |PIN2:9.8 (10)

37589 | COMPOSITE SPUR GEAR - 96T / 64P 106451 | HUDY ULTIMATE SILICONE OIL 5000 ¢St - 100ML 298012 | HUDY PARTS BOX - 10-COMPARTMENTS 372012 | COMPOSITE FRONT UPPER ARM MOUNT - RIGHT - GRAPHITE

376130 | COMPOSITE LiPo BATTERY BACKSTOP (2) 106460 | HUDY ULTIMATE SILICONE OIL 6000 <5t - SOML 298013 | HUDY SPRINGS BOX - 10-COMPARTMENTS 372020 | COMPOSITE FRONT UPPER ARM MOUNT - LEFT

376259-0 |X12'18 ALU SERVO MOUNT - ORANGE (2) 106461 | HUDY ULTIMATE SILICONE OIL 6000 ¢St - 100ML 298014 | HUDY PARTS BOX - 8-COMPARTMENTS 372022 | COMPOSITE FRONT UPPER ARM MOUNT - LEFT - GRAPHITE




